. "
Name: Date: U(J( {_) ( Hour:  Algl

Unit 3a Day 6: Rate of Change Given 2 Points
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ame strategies for finding the rate of change when I only know two points on a [ine:
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A. Two points: From a Picture 10 a l‘ormula |
and find the rate of change between the two points
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6) (4,5 and (2, 1)

Fy
da e ¥

AL el TN T AT A AT T Y T MY TN TS ey TR e ™ oW TR LY TN

K

EE. PN O L\ O

2. Turn the two points into a table and find the rate of change.
Ax -1
. When you find the change in the table, what operation are you doing? | -5 =-Y

When Ms. Millett was 9 months pregnant, she weighed 170 pounds. Bgfore -she was pregnant she
weighed 130 pounds. How much did heée e%r{ change? (What operation did you do?)
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% Remer%gg' {) Z’pnmz;:t %?ﬁgktl:aa?lé t\n\{ﬁi& rate of change. They have a formula they use to help them

calculate 1t. | f’;—ﬁ..
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: ORDWe left off at “change in y over change in x.” What operation finds “change? 5@@&& (OW
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3 The mathematician’s formula for slope is below.

a) The notation y, means the &a value of the sz point.
1

y o) Fl yl It uses subscript to tell you which point the value should come from. *
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B b) Itis correct to say either ™ A 1% _9 or (,3 gé-
c) Let’s say the whole formula together.

A X 1\'5l X 2%'2‘
*d) Now show how to use the formula using the two points above. ( L) F)
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3. Labeling point 1 and pont 2 /,\Y X 7 R \ \ .al ___8»

Use the formula to find the rate of change between (4, 7) and (5, -1) —
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Y Use the formula to find the rate of change between (5, -1) and (4, 7)
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3. The two problems above just had the points reversed, so does it matter which point you use as point 17
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C. Practice Finding the rate of change algebraically
1) (2,-7)and (-1, 6) 2) (-3,3)and (7, 6) 3) (-1,-9) and (5, -6)
X \ \ X 2}"8‘1




